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1. If two events 4 and B such that P(4'}= 03, P(B)=05 (ca+pf =t +g
and P (4 ~B)= 03, thenP( 3 J:s W 1@ b
uB at  pt b g
(@) w2 1. If a, b are the roots of x° + px + 1=0 and ¢, d are roots’
: ‘: 8 of x* I+ 1=0 the value of
{ch 8 (d} Nume ol these E={a~ C} ('b ~o)(a rd) (b 1 d) 15
; . : (@) pf —q (h ¢
2 If y<mx bisects the angle between the Llines - - g ) Nom ———

z 2 Z 2 .2 ™
x*(tan" G +cos* ) + Zxytan B — y* sin“ 8 =0 when 6 =—,
( v 2y ¥ 3 8. 1 F) 1 ) = z then the value of

then the value of 3% + 4m is f' ] ( 2 fl 2000 \
, 1 \ 2001 2001 2001
(a} ] (ha' TR £
A3 ; ia} 20060 {by 2001
o) 3 (1) 73 {c) 1999 d) 1095
3.1f f:R R and g:K » R and continuous functlons 9. Suppose a.b.c are in AP with common difference d.
then the value of the integral Then, EP’ c e e are lﬂ(h .
/R . {a] A ) e
J._u_,.fz I’f{x}+‘f(_x)][g(x}_g(_x)]dx 15 {c) HF {fl) Kane of these
{a) © (b) 1 10. Let « and { be the roots of the equation x* +x + 1-0.
) =3 . 0 The equation whose roots are o' and § is
4. The maximum value qu {cos o2,) (cos o) .. .{cos a,) whare B Rl 1D M x4 x—1=0
0<a,, o, a, 5; and (cot a,) (cot @,)...{cot u,) =1 is (€ ¥ —x+1-0 ) x" +x+1=0
o1 1 1. In the exXpression [x+N(x+4)(x+9
3 o L (x +16)...(x + 400) the coefficient of x** i
5 _}_ ; (a) 2570 by 21
® 28 | (c) 4001 (@) 1900
% Let M be a pﬂint inside the A ABC. Then, which one pf 12. The value of y ~0.36 10gg,e ]{l N iz +‘l| y
the following is true? W3 3 ’
{a} AB+ AL < MB -~ MC (a) 0.9 ) 0.18
b} AR+ AC > MB + MC i) 0.6 () 0.25

ic) AB+ AC= MB + MC

. i X ; L— na andé,
() Nowe of the alove 1. UiH, H,.. H, aen hazmomc means between a

+a Ho+b.
§. A line L has intercepts ‘@’ and ¥ on the coprdinate axes. aty the thedvalus of _1_:_:; H —b Is equal to
When the axes are rotated through a given angle, i j By e ;
keeping the origin fixed, the same line has intercepts o' ‘."3 nE ( d; f i
and ‘¢’ which of the following statements is true? Wer o e o
@ & + B = pt 4 g 4. For @ >0, a # 1, the number of values of x satisfying the
101 1 1 ; equation 2 leg, {a)+log, (a} —3 log :, {a) =0
Bl spde 2l ahey {al 2 () 3
S : ) 4 (d) &
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5.

18.

19.

20.

21.

An eight digit number divisible by 9 is to be formed by
using 8 digits out of the digits 0, 1,...,9 without
replacement. The number of ways in which this can be
done is

(a) 9 (by 2{7t}
{c) 4(7h {dy 36(71)
The number of ordered pairs (m, n), m, n<{1.2,...,100}
such that 7" + 7" is divisible by 5 is
(a} 1250 {h) 2000
{c) 2500 (d) 5000
. If @b c are the 1oots of the equation

x% —3px® +3gx —1=0, then the centroid of the triangle
with vertices (a, }—} (b, %] and (C, E)ls at the point
a ¢

(b} (‘3 3)
3 3

{c)(p+g p-g) i) (3p. 39)
Equation of the common tangent touching the circle
(x —3)% + y¥*=9 and the parabola y* =4x above the
x-axis is _

{a) x@y =3x +1

b Y3y ==~ (x+3)

(c) \Ey =x+3

(@ 3y =-(3x + 1)

@ (p q)

The number of roots of the equation [ ~x =6[=x+2
is

(@) 2 (b) 3

(c) 4 {d) None of these

A pair of unbiased dice is rolted together till & sum of
either 5 or 7 is obtained. The probability that 5 comes
before 7 is

{a) 3/5 {b) 2/5

{c) 4/5 {d) Nene of these
A letter is taken at random from the letters of the word
‘STATISTICS’ and another letter is taken at random from

the letters of the word ‘ASSISTANT. The probability that
they are the same letter is

1 13
o 1 P
W - Qe

19 5
(c} — {dy —

90 8

A bag contains 6 red and 4 greeri balls, A fair dice is
rolled and a number of balls equal to that appearing on
the dice is chosen from the wrn at random. The
probablhty that all the balls selected are red is

b_
(a) ()10

{c) g {d} None of these
The value of A for which the volume of parallelopiped

formed by the vectors i+2Aj+k, j+ ik and xi+ k is
minimum is given by '

(@) =3 by 3
1

(©) = @ -3
V3

24

25.

29,

30.

n

A six faced die is a biased one. It is thrice more likely to
show an odd number than to show an even number. It is
thrown twice, The probability that the sum of the
numbers in the two throws is even, is

{a) 4/8 {hy 5/8

{c) 6/8 {dy 7/8

A letter is known to have come from either TATANAGAR
or CALCUTTA. On the envelope, just two consecutive
letters, TA, are visible. The probability that the letter
has come from CALCUTTA is
{a) 4/11
{c} 5/12 {d} None of these

If cosa+cosP=a and sinow+sinB=> and O is the
arithnietic mean between o and B, then sin 20 + cos 20 is
equal to

{by 1/3

(d b)z (@~ b}
z 7 (b) —~r—
(a8 + o ) (& + b%)
e 2
) d"a i_a {d} None of these
3" A=

If (1+tan1°)(1+ tan2°)...
value of n is

{1+ tan45°) =2", then the

ta} 21 by 22
{c) 23 (d) 24
The value of sin 12° sin 48° sin 54°
(a) sin 30° (h) sin® 30°
(ey sin” 30° td) eos® 30°

The value of » such that the four points whose positien
vectors ave 3i-2j+ Ak, 6i+3j+k 5i+7j+3k and
2i+2j + 6k are coplanar is

{ay -6 by 4

€ 5 (d) 8

let A=2i+j~2k and B=i+j If C is & vector such
that A-C=|C| 1€ ~A|=2v2 and the angle between
Ax B and € is 30° then |(A x B)x C|is equal to

(a) z (o) !
3 2
fc) 2 {d) 3

A rigid body is rotating at the rate of 3 rads about an
axis AB, where A and B are the points {1, -2, 1) and
(3, —4, 2). The velocity of the point P at (5, -1 -1} of
the body is

3i + 8 + 10k

(a) 3i + 8f + 10k (b) —li--’;
S

(cj% () 4f+ j+ 2k

fA+B+C=0,A}l=3, |Bl=5 |Ci=7, then the angle
between A and B is

b4 2
(a) = {b} 3
5 7
{c} 3 (d) 4

. If f(x) is a polynomial satisfying f(x)-f[§]=fcx)+f{§]

and f(3) =28, then f{4) is given by
{a) 63 (b) £5.
{c) 87 (d} 68
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34, Suppose P, B, ... Py are thirty sets each having 5 38.

The area of the plane bounded by the curves y —x,
elements am% 0.0, ..., Q, are n sets with 3 elements
") "

xe[6, 1) y=x,xe[,2Vand y =—x" +2x t+ 4, x [0.2]

(@ 15 (b) 3
() 45 {d) MNone of these © qu -
.35, The number of functions f from the set A ={0,1, 2} into ]
the set B ={0,1,2,3,4,5, 6,7} such that f(i) < f(j) for @ 2 oqufffls
i<j andi jeAis ' 3
@ *c, bt *C, + 27 39, The fumction f(x}=2sinx ~sin2x, x [0,2x] has
@ '°c, {d). Mone of these absolute énaximum and minimum at
Y n
Ll (a) oy —. 0
36. The value of_r 8 o B0 = BB i
® 1+tan’x LT )
c) , it wl] None of these
fa) O by 1 3
@ = @ = x+1 (x-1)
! 2 a0, If y -sec’ [ )+ sin”™! L 1Jx &[0, ) and x %1,
X kS X - . Lt
. . . (cosx~1(cosx—&) . ;
3. The integer n for which Hm ( )x(" ) Ga then 5;_}_{ s aqual to
X
finite non-zero number is x—1
{al 1 by 2 (a) 1 (b) ——
{) 3 () 4 et 1
) O () ——
x —1
Analytical Reasoning
i ;031‘11 darz E“;;Ti :wﬁué:nggg f(kit}:) m:a‘iziaiﬁzfd C:: ;:oapga::tg 45, Which of the following are greater than x when x = %?
measure of exactly 6 L of water. A move is either filling 1 o x4l x+1
a container completely or emptying a container (either L % . e . ——
fully or partially}. The smallest number of moves needed ,
to do this task is (a} Tonly by Iand Il only
@ 8 (b) 10 ) [ and 111 anly (cy I and Il only
) 12 (d) Nonc of these 46. Four friends-Arjan, Bhuvan, Guran and Lakha comparing
) : %t : ie OTTFEESSSSN? tha number of sheeps that they owned. It was fou;td
2 W};l:.)t? The-fiExt jetiey i th[%]s%‘ls et that Guran had ten more sheeps than Lakha. If Arjan
© E &y N gave one-third to Bhuvan and Bhuvan gave a guarter of
what he then held to Guran, who then passed on a fifth
43. What is the diameter of the 1ar.gest ci'rcle 'that can be of his holding to Lakha, they would aﬁ have an equal
drawn on a chessbhoard so that its entire circumference number of sheep. How many sheeps did each of them
gets covered by the balck squares and no part of the possess? Give the minimal possible answer.
circumference on any white space. given that the (d) 200, 105, 110, 100
chessboard has black and white squares of size one inch. th) 90, b5, 55, 15
{a} 1 inch {b) ¥2 inch Aoy 180, 110,_ 110. 100
(© ﬁ'ﬁ inch () 2«;’5 ineh {d) None of the above
1 47. In a class, six students P, Q. R, 5, T and U are the top six
84 A car is filled with 45 L of fuel for a round trip. If rank halders, not necessazrily in the same crder. R did

each., Let | JP=|]J0;=5 and each clement of §
i=1 =1 '

belongs to exactly 10 of the Ps and exactiy 9 of the 0;s.

Then n is equal to ’

amount of fuel taken while goings is %th more than the

amount taken for coming, what is the amount of fuel
consumed when coming back?

{u] 1.5 th} 2

¢y 1.75 (d} YWone of rhese

18

10 ;
1Ay ?- S0 UMNits

19
18)} —:1—— srq units

not get the 4th rank. P's rank is higher than U's and Rs
but lower than s, Among these six rankers, there are
four students whose ranks are lower than S's rank and
five students whose ranks are abave that of T. Who is
ranked 5th in the class?
(ay U
) R

by T
() Mone of Lhese
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88. Three players-Aalu, Kachaatu and Bhalu were playing.

49,

50.

52.

=
0
p ]
W

olved Paper 2008

pocker and suddenly started to quarret among
themselves blaming each other for cheating. It was
found out that atleast one person among the three
cheated. When they were asked whao cheated, their
replies were as follows. .

Aalu [ did not cheat, Kachazlu cheated.

Kachaalu I did not cheat, both Aalu and Bhalu cheated.
Bhalu I did not cheat, only Kachaalu did not cheat.

If exactly one person among them always spoke truth,
another always led and the third alternated between
the truth and e, then which of - the following
statements can never be true in any case? :

{a) Ouly Aatu end Bhalu chealed.

() Only Aclu and Bhaly did not choat.

() Bhaiu always spokc the truth,

[d) Bhalu alicrnated hetoween truth and lie

If x and y are the two digits of the number 565xy such
that this number is divisible by 80, then x + y is equal
to

(@) 2 (by 3

(ch & (@ B
If both 7° and 3 are factors of the number
(2-1%° -6 -13") , then what is the smallest possible
value of a?

(a) 1323 fhy &7

(ch 21 (d) 087

Let x, vy and z be distinct integers, x and y are add and
positive, and z is even and positive. Which one of the
following statements cannot he true?
W) (x -2)y?
td) (x -

15 udd

¥ ¥z is evern

(a) (x —z) V IS even

() {x - 2)yisodd

From a height of 16 m, a ball fell down and each time it
bopnces haif the distance back. What is the distance
travelled?

(8) 45 m {b} w

{c) 48 m id} 24 m

If a man walks at the rate of 4 km/h, he misses a train
by only & min. However, if he walks at the rate af
5 km/h he reaches the station 6 min before the arrival
of the train. Find the distance covered by him to reach
the station.

{a) 4 km (b} 7 km
{t) 9 km {d) B km,
Directious (0. Nos. 54-57) Read the jfollowing

statéments and answer guestions.

The office staff of XYZ corporation presently consists of

three book keepers, P, I, R and 5 secretaries S, T. U, V,
W. The Management is planning to open 2 new office in
another city using 2 book keepers and 3 secretaries of
the present staff. To do so they plan to separate cerlain
individuals whe dont function well together. The
follawing gmdelmes were established to set up the new
office.
{i) Book keepers P and R are constantly finding fault
with one ancther and should not be sent together
to the new office as a team.

53.

55.

56.

52,

(i) R and T function well alone but not as a team,
“they should be separated.
(i) § and V have not been on speaking terms and
shouldn't gqo together.
(iv) Since, 5 and U have been competing for
promotion they shooldn't be a team.

If P is to be moved as one of the bookkeepers, which ot
the following cannet be a possible working unit?

{a) POSTW (b)) POSVW

{c) POTUW (d) PQIVW

If R and U are moved to the new office, how many
comhinations are possible?

(a1 (h &

(c) 3 (d) 4

If B iz seat to the new office, whlch member of the staff
cannot ga with R?

@y Q. (h) &

{c) W ) v

I S goes to the new office, which of the faliowing is
true?

faj Only R cannot go

(h) Only P cannal go

() Only F and R cannot go

(d) R cannot ge and W must go

Substitute digits for the letters to make the following
relation true. '
STILL
+WITHIN
) LIMITS
Mote The ieftmost letter can't be zero in any ward. Algo, there mLgt be
a one-to-one mapping between digits and letters. 2.g.. if you substiule

3 for the latters S, no nther latter can be 3 and all other S in Lhe puzde
riust be 3.

[a) 98533 + 258056 = 35608G
(b) 41211 +527013 =938224
[C) 98633 + 168006 = 256689
(d} A7166 + 517013 =614178

12 members were present at a board meeting. Each
member shook hands - with all of the other members
before and after the meeting. How many hand shakes
were there?

(a) 118 by 127

(xy 132 (dy 241

The letters P,Q, K, S T.U and V not necessarily in
that ovder represents seven consecutive integers from

22 to 33.

U is as much less than Q as R is greater than S.
¥ ig greater than 1.
Q is the middle term.

P is 3 greater than 8.

Can you find the sequence of letters from the lowest
value to the highest value?

(z; PVSQRTU (b} SUTQIRY-

{cy USVQPRT (d) TUSQRPY

There were a total of 10 bicycles and tricycles. If the
total number of wheels was 24, how many tricycles were
thera?

) 4 (h £

o) 8 (@ 2
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67.
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A person travels on a cycle from home to church on a
straight road with wind against him. He took 4 h to
reach there. On the way back to the home, he teock 3 h
to reach as wind was in the same direction. If there is no
wind, how much time does he take to travel from home
to chureh?.

fay 3h 35 mn 12 5

(b} 3 h 32 min 32 5

(c} 2h30mind0s

(d} 3 Lhebmindds

. What are the next three numbers in the given series.

11212231223233412232334233?
(a) 2,3, 4 (hy 2.7, 2
(€ 1.2 3 d) 4, 3,4

In the middle of the confounded desert, there is the
lost ity of “Ash”. To reach it, I will have to travel

overland by foot from the coast. On a trek like this, each

person can only carry enough rations for five days and
the farthest we can travel in one day is 30 miles. Also,
the city is 120 miles from the starting point. What I am
trying to figure out iz the fewest number of persons,
including myself, that I will need in our group so that I
can reach the city, stay overnight, and then return to
the coast without running out of supplies. How many
persons (including myself) will I need to accomplish this
mission? _
{r) 5 ih) B te) 4 () 3

A woman tock a certain number of eggs to the market

‘and sold some of them. The next day through her

poultry industry, the number left over had been
doubled, and she sold the same number as the previous
day. On the third day, the new remazinder was tripled,
and she sold the same number as before. On the fourth
day, the remainder was quadrupled, and her sale were
the same as hefore. On the fifth day, what had been left
over were quintupled, vet she sold exactly the same as
on all the previous occcasions and so disposed of her
entire stock. What is the smallest number of eggs she
could have taken to the market the first day, and how
many did she sell daily?

(a) 110.00 {b] 127 6%

ic] 100.60 (dy 103.60

The Bulls, Parers, Lakers and Jazz ran for a contest.
Anup, Sujit, John made the foliowing statements
reqarding results.

= Anup said either Bulls or Jazz will definitely win.

s Sujit said he is confident that Bulls will not win.

» John said he is confident that neither Jazz nor Lakexs
will win.
When the result came, it was found that only one of the
above three had made a correct statement. Who has
made the correct statement and who has wen the
contest?
{a) Anup, Buils
(¢) Sujir, Lakers

(b} John, Pacers
() Sufit, Jazz

A certain street has 1000 buildings. A sign-maker is
contrarted to number the houses from 1 to 1000. How
many zerpes will be needed?
(ay 128
Wy 181

(hy 1490
(d)y 192

NIMCET MCA Solved Faper 2008

68. Examine the following sequence of numbers.

0.

28

L O TS B e e B e
e L e ek P b
ek ek ek P bk

W =

SV O I\ RS N
M e

(L FTRN Y

[T % 3 B

11
131221
What are the next two nurmbers in the given series?
() 13211311122111231131and11213211
320222137131 221133
23113112211132113111and11121321
132124211131221133
(3)11231131122111321131and11131221
212221133112132113
()13211311123113112211and11131221
133112132113212221

There were two men standing on a street. The one says
to the other. "I have 3 daughters, the product of their
ages is 36, What iz the age of the OLDEST daughter™

i

‘The second guy says, “I need more informaton.” So, the

first guy says, “The sum of their ages is egual to the
address of the house across the street)”
The second guy looks at the address and says, “I still
need more information”. Se, the first guy says. “My
oidest daughter wears z ved dress.”

{a) & h) 6

{© 12 (d 4

Three Gold (G} coins, three Silver {8) coins and three

Copper (C) coins are arranged in a single tow as follows

o Only 2 adjacent unlike coins can be moved at any one
time. ;

» The maved coins must be in contact with atleast one
other coing in line i.e, no pair of coins is to be moved
and placed away from the remaining ones.

= No coin pairs can be reversed fe, S$-C combination
must remain in that order in its new position when it
is moved. ; ;
What is the minimum number of moves required to get
all the coins in following order?
CCCSSS8GGG6
(a} & by 8
) & (@ 12
Mr. and Mrs. Birta and Mr and Mrs. Tata competed in a
Chess tournament. Of the three games played
I. In only the first game were the two players
married to each other.
IL. The men won two games and the women won one
game.
L The Birlas won more games than the Tatas.
IV. Anyone who lost a game did not play a
subsequent game.
Wheo did not lose a game?
{a} Mr Birla
{c) Mr Tata

tht Mrs Birla
{d) Mrs Tata
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1.

11

74

75.

.

7.

Of the three numbers, second is twice the first and is
alzg thrice the third. If the average of three numbers is
44, the largest number is
(z) 24
(o} 72

th) 26
{d; 108
Larger, medium and small ships are used to bring water.
4 large ships carry as much water as 7 smatl ships. 3
medium ships carry the same amount of water as 2 large
ships and 1 small ship. 15 large, 7 medium and 14 smail
ships, each made 36 jowrneys and brought a certain
quantity of water. In how many journeys would 12 large,
14 medium and 2?1 small ships bring the same quantity
of water? ,

la} 32 by 25 (e) 29 d)y 48
Five men P, {1, R, S and T read newspaper, The one who
reads first gives it to R. The one who reads last had
taken it from P. T was not the first or the last ta read.
There were two readers between Q and P. To whom did
pass the newspaper? '

() R by P

) S )y T

An airline has a certain free luggage allowance and
charges for excess luggage at a fixed rate per kg. Two
passengers Raja and Rahim have 60 kg of luggage
between them, and are charged T 1200 and T 2400,
respectively for excess luggage. Had the entire luggage
belonged to cne of them, the excess luggage charge
would have been ¥ 5400. What is the weight of Rahim's

luggage?
ia} 20 kg (b) 25 ky
(€] 30 kg {d) 35 g

A group of 630 children is arranged in rows for a group
photograph  session. Each row contain thiee fewer
children than the row in front of it. What numbsrs of
10ws is not possible?
fa) 3
€ 5

{1

{d) o

Directions {Q. Nos. 77-80) Read the following passage
and drswer the guestions.

Sports (and game)} persons P, @, R, 8§, T, Uand V of a
university aze at the Bengaluru Airport. Five of them are
selected players and leaving to partiripate in the Grand
Sports Event in five different events cricket, carrom,
badminton and table tennis being held at 5 different
cities Mumbai, Chennai, Kolkata, Delhi and Hyderabad.

(i} P is going to Dethi, but he does nat play either
cricket or carrom.

{u} Q has come to give send poff to R, who is a chess
player and is not leaving to- either Mumbai or
Hyderabad.

(iii} $ is leaving to Kolkata to play table tennis.

(iv) U is leaving to Mumbai but he does not play
either hadminaton or cricket. '

(v} Ti5 not a selected player.

Who plays badminton?

{a) P {h Q

Cricketer goes to

{a) Mumbei
o) Chennai

(ci i (dy 5

(b Hyderabad
(dy Delhi

B1.

B2.

83.

84,

87.

Flayer of which game gaes to Delhi?
(a] Badminton (L] Chess
() Crickel () Table Tennis

Who plays chess and where is he going?
(a) R aznd Channai (hY S and Mumbai
ic) U and Delhi (d} Nate of these

Directions (0. MNos. 81-83) Read the following
information carefully and answer the questions.
(i) Py means P is mother of
{ii) P = Q means P is sister of Q
{itty P $ O means P is father of Q
{iv) F 4 Q means P is brother of 0

Which of the following means N is definitely daughter
of K? :
@) KSLAM#N bl My KSNeL
o) Ky M#FLeN _ (W} Ly KN #M
Which of the following means R is brother of T?
@ RyS#UST () UWR#S#T
) Uy ReSy T (d) T#$5QeR
Which of the following means X is real grandmother of Y?
(0 XecZywEKSLFY (b) YWY KSX#L
M) Y#L$KyXeZ (d) K#XWwZ#LSY

If KyL =M} N, then how K is related with N?
A Mother (b) Aunt
{c) GGreart Aunt {d) Grandmethies

Which of the following means K is nephew of M?
(@) NAMS$L#FKeOD ) E#LENecOSM
€ Ly O#FMEOK W M#ANSLEKEO

There are six houses in a row. Mr. Lal has Mr. Babu and
Mr. Anil as neighbours. Mr. Bhatia has Mr. Gupta and
Mr. Sharma as neighbours. Mr. Gupta’s house is no next
to Mr. Babu or Mr. Anit and Mr. Sharma does not live
next to Mr. Anil. Who are Mr. Babus next-door

Tneighbours?

{a) Mr. Lal and Mr. Bha{ia ib) Mr. Lal and Mr. Al
{c] Mr. Sharma and Mr. Lal (d) Only Mr. Lal

A watch which gains 10 s in 5 min was set correct at 9
am When the watch indicated 20 min past 7 0' clock, the
same evening, the tiue time is

fa) 7 pm {b) /:40 pm

{ct 7:10 pm td} & pm

A boy observes the reflection of a clock in a mirror. The
time ohserved by the boy in the mirrer is 3 h 45 min.
What is the actual time shawn in the clock?

(a) 8h 45 min {b) 9 h 45 min

frr B8R 15min id) 2 h 15 min

Gold is 19 times as heavy as water and copper is 9 times
as heavy as water. In what ratio should these be mixed
to get an atloy 15 times as heavy as water?

(ay 1:2 (hy 2:3

(c} 3:2 () 1:1

In an objective type examination, 120 objective type
questions are there : each with 4 options P, O, R and S.
A candidate can choose either cne of these options or
can leave the question unanswered. How many different
ways exist for answering this question paper?

(a) 5]2(} . (L} 41'8!."

@ 120° id) 120*
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91. A CPU has an arithmetic unit that adds bytes and
then sets its V,C and Z flag bits as follows : The V-bit is
set if arithmetic overflow occurs. The {-bit is set if a
carry-out is generated from the most significant bit
- during an operation. The Z-bit is set if the result is zero.
What are the values of the V, C and Z flag bits
respectively after the 8-bit bytes 1100 1100 and 1000
1111 are added?
(a) 0, 0,0 by 1,1, 0
ey Bals 1 (dy 0,1, 0

92. Which one of the following statements is always true?

(2) A compiled program uses more memory than an
inferpreted program.

{b}A compiler converts a program to a lower level
language for execution. _

(c) A compiler for a high level language takes less
memory than its interpreter.

(d) Compiled programs take more time to execute than
interpreted programs.

93. Floating point numbers in a computer are represented
using a 10-bit mantissa (including a sign bit} and a
7-bit exponent {including a sign bit). What is
the approximate walue -of the maximum noember,
which can be represented? Assume that the mantissa is
stored in the normalised form, that is, without leading

ZRI(RSs.
o ) 2
(C} 2!‘:4 [d} 2{'1‘3

94. The capacity of a memory unit is defined by the number
of words multiplied by the number of bits per word. How
many separate address and data lme are needed for a
memory of 4K x 167

{a) 10 address lines and 16 data lines

(b 12 address lines and 10 data Unes

{c) 12 address lines and 16 data lines
- {d) 12 address lines and & data linas

95, The main disadvantage of direct mapping of cache
organization is that

{a) it doesn’t allow simultsneous access Lo the intended
data and its taqg. .

{b) it is more expensive than other type of organizations.

{c) the cache hit ratio is degreaded If two or more blocks
used alternatively map onto the same block frame in
the cache.

{d) the number of blocks required lor the cache 111C1eab.es
Hnearly with the size of the main memory.

9. Let Af1...10] be an array, let A[i}l=2i for 1<7<10.
After the assignment j = A[A[5]] is executed, the value
of A[j]is equal to

{a) Undefined (L) 1
{c) b {d) 10

NIMCET MCA Solved Paper 2008

97. The first instruction of bootstrap loader program of an
operating system is stored in
{a) RAM {b) BIOS
 (c} Hard disk {d) None of these

98. The function AB'C + A'BC — ABC' + A'B'C is equivalent to

fa) AC'+ AD+ A'C
{hy AB"+ AC' + A'C
fcy A'B+ AC'+ AB'
(dy A'B+ AL+ AF
%9, The acdditon of 4 hit, 2's complement binary numbers
1101 and 2100 results in .
{a) 0DC1 and an overflow
b)Y 1001 and no overflow
) ONO1 and no overflow
{djy 1001 and an overflow

100. Given J.{_224_)r ={13), the value of radix r is
{a} 10 by 8
{c) & d) &

101, Let 4 =11111010 and B =00001010 bé two 8 bit 2's
complement numbers. Their product in 2's complement is

{a} 11000100 {h} 10011100

{) 10160101 {dy 11010101

102. Identify the logic function performed by the circuit.

X o

fx, y)

yo—

{a) Exclusive OR (b} Exclusive NOR
{c) NAND {d} NOR
103. Which of the following is (are) true about virtual
memory systems that uses pages?
I. The virtual address space can be larger than the
amount of physical memory.
II. Programs must be resident in main memory
throughout their execution.
III. Pages correspond to semantic characteristics of
the programs,

{a) I only {b} 1l only
{c) land Il {d} Tand ITI
104. The minimum number of gates needed to implement the
Boolean function
Jx,y.g)=z{x+Y)+{Z+x+y) (X +¥) is
{2y 2 (b) 3
(c) 4 (d) 5
105. How many bits are required to store an ASCII character?
(a) 7 (by 8
(e) 8 {d} None of these
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- General English

Directions " (0. Nos. 106-107} Read the following
information corefully and answer fthe questions.

Each sentence given in the questions has twp hlanks,
each blank indicating that something has been omitted.
Beneath the sentence ave four sets of words, Choose the
set of words for each blank that best fits the meaning of
the sentence as a whole.

Greek philagaphers tried to ‘contemporary notions
of change and stability by postulating the existence of
the atom, particle from which all varieties of
matter are formed.

fay confirm, . an inieresting

(b} reconcite . an indivisible

) simplify ... a specific

() &liminata... an indiniiesimat -
The Tata group will need all its considerable
management ......... il s to manage teugh

chatlenges ahead after taking over Corus Steal.

(a0 skills. . leresls

iy knowledge. . monpower

©] acurnen...onus

[} oxpericnce.. . brand cquity
Directions {0. Nos. 108-109) Read the jollowing
information carefully and answer the questions.

In each of the following questions, a related pair of
words or phrases is followed by four pairs of words or
phrases. Select the pair that best expresses a
relationship similar {o that expressed in the origiral
pair.

INFLAMMABLE : IGNITED :; ......... 1 ...,
(@) Fragile : Shettered
1y Flexible : Broken
() Famous : Plaglarized
(rly Somber ; Mourned

SAVANT : OBTUSE :: ........... Bl

@y Scor: Utninous (LY Wriler . Verbose

o) Judge  Melordramatic (d} Alnleta : Sluggish
Directions (. Nos. 110-111) Each question consists of a
word printed in capital letters, followed by four words or
phrases. Choose the word or phrase that is most nearly
opposite in megning fo the word in caprtal letters.

OPPROBRIUM
{a) Honour
(v} Ostentation

INCESSANT
{a} Perpetual
{c) bporadic
Direcdons ((. Nos. 112-113) Each gquestion consists of
a word printed in capital letters, followed by four words or
phrases. Choose the word or phrase that is most similar
in meaning to the word in capital letters,

{2y Prudence
{d) Lmbrage

(b Parsistant
{d} Unrelenting

EXASPERATE
{a) Pacify {b) Mollily
{c} lrritazc {dy Placale

113.

114.

§15.

116,

INTMICAL

fa) Antagonistic

{c) Fancitul
Directions {Q. Nos. 114-118) Read the following passage
amd answer the guestions, bused on what is stated or
implied in the pussage.
Declassification of government documents has shed new
tight on the events comprising the Cuban missile Ciisis
of Octoher 1862, Prior to the accessibility of these
records, the only source of account of the Crisis for
schalars and historians were the personal memeirs and
narratives of the officials who served under Kennedy and
Krushchew during this peried. Many of the declassified
documents are transcriptions and notes of meetings
between members of the CIA and President Kennedy's
Cabinat, as well as the President himsalf. The revelations
in these documents have demonstrated the inadvertent
inaccuracies and intended ohscurities inherent in the
first-person narratives of the Crisis, and has aided
historians from all three countries involved in the Crisis
to get a more authenBic representation of what truly
transpired, and for what reasons. Of perhaps the most
interest to historlans are declassified correspondence
between John F. Kennedy and Nikita Krushchev that
challenge the idea that the height of the Crisis extended
onty over the course of thirteen days. Indeed, these
letters indicate that the Crisis was far from resolved by
Krushchev's October 28 decision to withdraw the Soviet
missiles from Cuba : instead it endured far into the
following meonth, while America slept fitfully under the
illusion of peace.

{b] Anonymous
(el Arcurare

The author is mainly concerned with

{a} Petitioning the govornment to make ail classiled
docwrnents of istoric interest accessihle to the
gensral public.

(1) Discounting the serse ol dungen sneny Amerivans (et
during the Cuban Miskils Crisis

{r) Ravealing a rcaloulated dpm-nprmn perpetrated by
members of ;(e'mndy s Labinet.

{d) Mustrating how previously accepled ideas based on
hearsay arc peing refuted hy concrete evidence.

According to the passage, which of the following
statementi(s) is/are true for the Cuban Missile Crisis?
I. The Crisis is still shrounded in mystery.
I. The memories of those closely involved in the
Crisis .were not entirely factual.
I, The erisis spanned thirteen tense days.
{a) 1 onky By I only
{2) [l only () Il and Iil

The author’s use of the phrase “inadvertent inaccurancy
and intended obscurities” suggests all of the following
EXCEPT |
{3} histarical record is often skewed by human perceprion
{b] detaiis of the crisis ware purposely omittad or vague
{c) every politician deals in deceprian and prevarication
{rl) memcry is incapable of recapmiring the full details of
an event '
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Directions (Q. Nos. 117-118) In each of the following
guestions, a sentence is given with a blank followed by
Jour alternatives. Chouse the word or phrase that most
correctly complates the sentences.

117. Mary did not attend office yesterday. She ...... for a
picnic. :
ta) will hieve gone (b} have gone
{0y may have goune () would o

118 I don't know where Maya is. She ...... at home.
{1) would be ) is
(vy car be {d) could be

ANSwers ... Sol

L FA=1-PM=1-03

=07
P(BY ~1- F(B) 1-05
=0b
F{AMBY=Fa - P(A™ R
=07-0.3=04
= P{AUE=P(A+ EE) ~PAME
~ 0.7+ 05— 0.4
=08 :
Now, Ft B ' _PIBAtAL B
AR, P4 B
_TUBm AL (B BY
B FiAv RS

PBAA 05 3

FAaAwEY 08 8B
2. ic) Cquation of angle hisectors of ax™ + 2hxy + by)' =05

oy

a-b  h
= Angle hisactors af
& tan’ 8 + cos” B + 2xp tan @~ 37 i B=0 s
x = v‘ FA

tan B+ cos” B+ sint B end

£ LA .
s allb . ot =12/3)
sec B Loy
R ;
= Ll BT
q NS
As v = mix salisly B 118 su
PR _ e
4 . ~3
1-m m
= =T
_ 4 w3
bt WA =~Im' = 4m
s i 4 am= 3
3 (dy Let iz = 1Ax) + fi- x1 (g — g{— )1

= hi-®)=1f- 8+ {0 g (— % — g{=h
==+ fA—xigx —g - ]

== fifx)
= M{x)i% an odd lunciion,
F74
Skt iv )h[x}rb(—O

4 () et o) fcuta) . et o, =1
= fcos o) fos o)LL lLos )
= (sineoy) (sine,) o isine ) st

NIMCET MCA Solved Paper 2008

119. Choose the most appropriate meaning for the fellowing
idiom ‘To fish in troubled waters'
(1) To make the situaticn warse
{b) To make protit when oihers .n uouble
{2y To create trauble for cihers
{d] Toindulge w1 evil acls )

120. Read the following sentence and choose one underlined
word or phrase that would not be appropriate in
standard English. Gne of the chair’s legs was broken and
the upholstery need mending

(&) the (Y cha’ s
{c) legs d) needed

ions

LHS and RHE will b maximur with equal values

=, T
if ‘11““;:---—0-..—'_;:
e i

M, (R =

& &
= Maximum value ol [cos o) Lus o) o es o)
; 3 voro s _ ]
L= | p s = Dy

i - \‘. l
(B LT AL 4
l RN Lvd ) a7

5 (b
A

[ C
if M is a point inside the A ABC, then porimgice af
A AR = perimzler ol A MBC
= AB+ AC 4+ Bl =ME+ MO+ BC
= AB -+ A »UE ~ &7

b. (hy The line I will b — + = =1 in xy-coordinate sysienn.
i b
When  the  axes zre eolated by an angle 0 in
arti-cloekwise dirdctian.

' xcos B+ vsin:

vo= ksl oy os B i
= ® = xeos B-yikind

y o= xwum b+ yioos A

xros 0 —3'sind + xtsind+ytoos B

% Line is — - 1
: i s fa .
cos 80 sind foos i sinfle
= x] - -4 ———= s &
A b by b 2 |
=x ltercepl pand g e
sib ah : 5
e = . v e
Beos 8 = asind acos B = hain
s @+ B oo™ 0
1 i Y T el ¢ I Tt I3J a4+ B
28 sy e i mEe T e —
ooy s Sh
1
TF
1o abaewesol "+ pr+ =0
— dl b=-pub=l )
Also, ¢ oandd arg topls of X4 gy + =0
e o lu=-god=1 R T

Now, E=lag-ciibh—rila- i~
=fa~cib+Rh- a4 d
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=(ab—od - b+ ad {ab —ac+ bd —cd) {2 ab = cd)

= jeef - B (hed ) _
=ab(d + ) —cdid + b

=ak {lo+ A = 2ed} —od {ta+ b = 2ah}

=ig° -8 -(p’ -9
=g -p
B ) i+ AMl—x..2
A W R T s T
g Tty

= 1 ; =
2001 Lanm
e on “1e98

= f[ - "~—f|l 1—-
L2001 2T )
1000 C10017

- 100
2001, L2001,

which are 000 pairs in sll.
; 3 b e s 4
Y T S -
2001 » 2001, L2001 )
) Since, 4, kand ¢ arc i AP

= 2hi=a+r
Now, we take
lec _Hl.’a_

@
Es

lc+lva o+

= & -_-FJ“J'I dc

=My :
= &% o™ ande’® afe in GD
10. D) o B are roats of }(_ﬂ + x4 1=0
o+f=-Lap=1
= a=w - w"
- o= B = =P
@+ p marp=-1
a B s a2
Hence, the cguation romains same.
M. @ ix+ Bix+4(x+9 .., ix+ 400
=(x~ 1 (x+ 2 (x + Fl..(x + 209
So, coetticient of x' will be

¥ s nfu+ B2+ 1)

12 -2 4+ { 5=

_ 20 %21 x4l

5
12 JEMm |
(b)) ¥ =D.36log, l—+f+__.
Uo 28 3 F

4

=41 %70 = 2840

17/

S

‘_

= 30 logg o5 =038 hug, el / 2

—
Lo

=036 lo,q“‘_m;- (12
0136 ’

tag;,, (1/2)

= .36 :(1 = (LI1A
2

13. (0 a H,, Hy, ..., i, bin HE

1 1 1 € s,
e m— — —— =it AP
a H 1L I, b
: T 1 ;
- —=—+i{n+2-N4d
o
pron e {n41 I d
— &
b L a

= 2000

6

ALY

{ftrom ke (i

)

14,

15.

fd

l_l
== ='7 a3
n+ N

1 1

1 1 ¥ g

— . 4pd_-4+b a

H a g n-1

1 d—i

a  abin+1)
b+ N+ a-b

abini1 1)
abrirni+ 1)
= I = -
bn + &
- L i bn_ﬁ
- i bri + &

Using cempanendo and dividendo, we got
H+a bo+b+bn+a
H, —a bon+h-bn-a
_at b+ 2bo
B L-a
1 1

Alss, —=—-d=—-
i b ko]

'

a—b

alb (ir+ 1)
_d(u-!— Ih—a+ b

abr(n+ 1}
EbEa
- an+ h
Ha an—a
b an+ b

Using compdnendo and dividendo, we get
M.+ an+a+an+ b :

H -

= i

=

o anea-an - b
_a+ b+ dan
(m adding Fos. {3 and (i),

b

HI-‘—aiHI\J--b&a'b-liibn ad b+ Zan
H-s H,-h  h-a h-a
an (b -
o PASE R
b—a
Given cguation, élog, (@ + log,, (@ ~ 3 lmg{,_-. . @=n
) 1 i '
= loga + + =0
. logx logatlogx Z2vgar.oyx
Lot lngx =v and loga==¢
1 5

= e TR =0

I S S e -
- Py+ly+ 2+ yy+ a0 - 3y(|,r+c1 0
= By + 1y + 4c” =0

-11c¢c% Y121 - 98"
ﬁ "V:
12
o -llef s —4e ¢
' 12 302

-4
= Iogx=Tluga

Cand log k= —%loga

—y x=g 4,’i;a 7

i.g. two solutions are there.

Sum of the digits of a number divisible by 2 s alko

divisible by 4.
KNow, sum of digits 0, |, 2, 3,
Lry O,
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S, bwe digils oul of 10 digils geven will be portted ny 20. (b} Wurmnher of cases for mm 5 -4
such a way that their sum should alsc be divisible by ©. Humber of cases ‘or sum ‘7' =8
Sc, omitted digits will be (0, 9), (1, 8}, {2, 71, (3. 8) and s : ? : 4 1
{4, bl. in she lirst cose, Lhere will be 31 nunbers divisible Frobability of getting sum 5 in one raoll =E = 5
b5y 9 and In the last four cases therc will be 7 (71 ways Praba I O E aarte althss 5 ot Tt ‘I'=
due to presence of 0. TOUALIITY, O g‘i t;ng 2 59' ST AT e
&o, total number of ways =814+ 4 x 7 (7!) = 36 (V) T i L
16. (c) Las: digut of 7¥* 1 =7 S ; 36tt' 158} . .
: P— = Probability of gottin heforc
Lust digat ol v¥ 8 =g ’ ¥ . g LRy
it s omdg + 5 1 13 & [ 13 1
Last digit of 7 =3 SR —— el o
e g s a lia) g
Lasi digit oI 7% =1 o
If misdp+ 1 then nshould be d4p + 3 - 1 18 2
So that 7" + 77 is divisible by 5 and wice-versa also, = _QTS = K=
Similarly, if m s 7%* " then n shoulg be 7% and & - ° 5 5
vice-versd Lo be divisible by 5 18
S0, number of ordered pairs 21. (c; The same letter can be either 5, 1. 1 or A,
=4 x (™, « gy = 2500 Probubitity of ragquired will be
' . LSy + BT+ P+ PlA
17. (a) 5. E and ¢ are roats of ¥ —3px® =gy =120 .3 3.3 2 2 1.1 2 19
= a+b+c:39?ab+}x‘agffij W9 109 10 6 10 8 8
AR 1 1 {' 3y 22. [d) Required probabylity
= e Syt =FAIR - P(PR) + PI3AY + PAR +PI5R) + PBR
a b ¢ abc Bia 5 o [
; oy ot .5 L, e A, ke 1 B
= SR T B 10 8 P 6 Yz A g
Mow, cF-:InrrrBid ﬁri‘r.];jani Ie with vertires | 1 E(_f'r- 1 g} BCE
[a,—},lb,—,!c,— s & “G,\ q w‘_.(
a/\ hSw ¢ - . :
; 1 1 11 113 1 1 1 1
gy g E g e e s - Sl e ey
at0tca b oo gle 2 6 14 42 210
T LR 1 136 B8
% a3 | i ou.. 2
. 3 & 1057 315
. () Tangent to paraholz v - dax is 2. () Volume of parallelopiped will he
a 1A
LG ! » i -
m . V=i 1 A=I4+AX -1 = V=N-k+1
—» Tangent ta " =4 x will he o0 1
V=mx+— L) For muinunum value
" dv _
it will he tangent to the circle = =35 —1=1)
(- 3% 4 ¢ =0 =3 I, :
If length of perpendiculsr from (3, @) will be 3. = = _"’_1
H RS
i |
- i m 3 LV 5
. ey z =<
,\'lg_”z + 1 : [/
; 1
oo AL k= o
= Hm 4+ 1-3m &) af o+ 1 A3
I 7 0 7 7 Fy b
= 9" + 6 + 1=9m (M + 1 - Y =2 50 (mim
Lol : ak 3
= ms= - for ebove x-axis 1
\1_ _— M. (L) PN = PO - PR '-;:
S0, tAangent is VXt — 1
- @8 WS P(7) — P(&) = PI6) = —
= NIy - x+ 3 le
19, ¢ 2 1< 5 Mow, swun of two odd numbears, and also sum of two even
> ) ¥~ x-B]=x~ numbers is even. so,
= o =3 e+ B = x + 2 P fodd. odd) + P {even, even)
= (x-Jx+J~{x+3 | 3 3,1 1 105
it Wi - = - — = W e T e
it X% 2 e x23 127271 16 =
and —(x=3i{x+D=(x+2 , .
N 3L %3 25, {a) TATANAGAR has 8 lstters, so number of ways in which
- (= Dx—d) — Oif x<-~Zor x 23 two consecutive lerters can be printed will be 8, out of
and 2+ Aix—2 -0 whicl ihere are 2 ways in which TA can be printed.
if 2y <R Similarly, for CALCUTTA, there are 7 ways of printing

= x=—24d,2 two consecutive letlers, rom which there 15 only one way.
i »

SoThe number of roots s 3. to print “TA"
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2
&
joB
g
g
3

Hence, requued probabiiily

t ]
77 _4
1.2 1.1 4
78 7 4

6. (d) Given, Consa+rasfooa

29. (b

= 2 vos [ B ] [ BJ =
4
T
= 2030 cos (—ﬁ-]=a LAl
R
@ B : 30 M)
s} --m-é—" (AM of o, B
Alse, ‘Sina+,in'}-b
= Esin[a+ﬂ1cnstauﬁwzh
. 3y
= 245in 8 cos —-2—]=b o Aib
- e _ob
: s B sinf
L A v
= N
\.::m 'B oot 9
[froms Bos (1) and {§i)
a
P ms - —— -
\ll'aa + B
. b
and sing = =
Ja + b
Zab
= sin 2l = —é-éii—q-;
. B
a - b
cos 28 = o, it
’ &4 tf _
— B+ Zat
»sin28d+ cos 7B = d- _h M,.;if
a -k
21, (r) As, tarn 45 = ran{x + [@45°— ¥l
_ lanx 4 ian tah" — x) _
"1 —tan x tan [35% ~ =}
= 1 - tanxtan t4h*  x) = lanx + lan{d5” — x)
= T=danx : @5 "= %) — Lan x farc (457 — x}
= Z=(1+ lanx) (1 + lap (452 = x) {i}
5 11+ 1anl1 1+ andse) =2
(14 Lan2% (1 + tan43% =,
{1+ 1an22% (1 + tands3® =2
and (1 + tandsH =2
= {1+ tanl19 il + tan2% . 22 dmes) (1 + wndb™
{222 22tmesy-2=2".2=2"
% =2
32, (o)

. o) siniZ¥sindf¥sinb4”

1 .
- {2&in 1275ind B¥) sin b4
1 .
= —2- [cos (= 3467 = cos 607 ces 3R°
CifBe1 1,451
2l & 2 a
+

B ez
_;: 4 4

{r,__ N=—_ J —uir? 307

1

Let given lour points are A, B, C, D which are coplanar, if

[AB, BC,CD] =

AB =3 +5j+(1~-Rk

BC=-i+4]+&
CD - —34~5]+%
3 5 1-4]
= -1 4 ZED
T 3
A2+ 100 -5-3+&8 ~(1-3B+ 1 =0
= Ao d
Given, ' IC - Al=22
— c-af=8
= Bl +|Af —26-A-RE-CHA - [Cl=C)
= G020 =R
= Cé-2C+1-0
= (€ =1 =0
C=1
= Ci=1
How, A x Bl xC | = ||A = BHC| sin30°4)
1
== |A =B Al
i j kK
AxB=2 I -{
A& ]
=i0+2)-jO0+H+ki2-1
=d-¢]+k
= |A xB|= j44+2+-1=3 - (D)
From Frs 01 and (i), wa get
) 3
(A xBpxT ==
. 1 2
b —1.-1} B(3.-42)
’:::_-__0_ .‘-“1
R i
,' T
2y
y
A}
4
n
&
\-\
\\\ X
At -2,1)
AR A -—Zj+k
AP =4i+ j- ik
i i k.
= ABxAP =2 -2 1 =& 18] 10k
4 1 -2 .
A‘B:(AP "§+8]+1"lk
= v
w 3
Oiver, A+ B-C =0
= -C=(A+B)
= (=G)-{-Cy=(A+RB-(A+B)
i CF =1a7 +|Bf + 2(A.B)
e |{.:t;l = ﬂF ] [B.z
= 49 =25+9 + 2 fdxbcos@]
where s the angle boelween A and B
1
= ces B = -
2
> gyt
3
- t  5Sm
cr - —=-=
3 3
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. 1 1 . 32! 3 :
33 ) fix- f[;): Fx) + f(;] _ (given) - —X_3 S B 2 —2x Lt A A
3 3/ 3 i
= flxi=% x" +1 ; 5 160 5 :
Given, f3=28=3"+1 =—§+1+4—§+1:[—?+4+8)_(?+1+4ﬂ
B gl i K B
= 3 =27=3 20 13 7 19 :
= n=3 Sdob e =4+§:?sq units
= fixy=x' +1 : ;
2, Fid) = (@) + 1 =65 39, (a) Given, fix} =¢sinx t singx
: ' =  flx)=2003 x + 2C08 2X
3. 27, =P x10 For max ar min of f(x)
and 3Q, =WR) x8 = (-
= 105 JOxS = cosx+2costx—1=0
= $=15 —1t.1+8 1
Alse, 3n=85 = L 1,§
= n=35=45 m o
35. (¢} For O, we have 8 options. =» Critical goints are m, —, ~,0,27.
For 1, number of options =1 + 2+ ...+ 8 ¢ fx 3% B —- 343
8-8 o4 Am=0; fi—|=—f| &~ |=——
T |2 3 2 3 2

A0y = 0120 =

For 2. we b Z T _ x
Oy RS AV S, 5 opt.lons =» Abhsolute maximum is at E and absolute minimum is
=1 .
8-9-10 g ) 5n
=————= (; options at —.
23 1P 3
Wi dx az dx afx+1 afx=-1 = a1
36. (o) 1= J'O 2 o T 8. (o) v=sec (—-—— —] + sin”! [ ]( sec ' x = cos ]—]
1+ tam x 1._‘_[3“3[_ —x] x=1 x+1;4 X
2 ax-1 Cafx-1
W ax = ¥ = Cos -—— | + sin
g ]' - S x+ 1, x+1
. 0 1+4cot x ; 5
il -1
P +cos x=—
we | 1 - 1 L sin ' x ]
= E!.I:j'U {1 e de . ; &
T+ wn'x 1+ cot x| = y=2l= --K=U
5 n 2{! b3 2 ox
= R P 3 #1. (a) Step 1 Fil! 9 L container.
7 Step 2 Pour 4 L water from 9 L container to 4 L
= f= 1 container
(o8 3= 1) (08 4 — 0™ Step 3 Empiy 4 L comtainer.
37 (@ lim = = - Step 4 Again pour 4 L water from 9 L container 1o 4 L
el 5 * 5 ] containgr,
=X . _qila- x5 .1'1 o ]\ Step b Again empty 4 L container
. 21 7 Pl 1 J Step B8 Now pour remaining 1 L water trom 9 L container
= }!.I_r:—:,. e e X“ IR w4l Container
- U S N Step 7 Fill 9 L container.
— + . G - i Step 8 Pour water from 9 L contaiter to 4 L container, so
) 21 41 1 21 34l that it is compietety full,
= lim ; 3 E
A s Now, 9 L container contains 6 L water.
3 1 X Yo 2y x° 42. (d) The lellers are repeat ONE, TWO, THREE, FOUR and
e e i + i T | - sy ey o FIVE times respectively.
= lim - i el So, the reguired letter is N.
n
ao-ald x 43 (b} —'g‘“
which will be finite non-zera vellue, if 1 =3
1
and the value is 5 {B wl B
.l
38. (b ¥ -rjl‘—'*—X2+2X+4 B

=H-{x—1)

The required diameter will he diagonal of white square
x2 which will give it's middle point as the centre. )

So, diameter = \J'E inch

y:

o] (1.0) {2,0) #. (1) I x is the amount of fuel consumed while coming back,
. ; it
then X+ x4+ 2(T-=4—
~ X rex+4=5-(x-1 o a 2z
The wquued area will he = 9_" = 9
: : < 2% o 4 2
Li(—x +2x+4)—v’)\}dx+j]{(_~x +2x 4 4) - X elx 5 s
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45, (b) Ar v - — 1 - 1t — 51. (1) It 5 goes to new office, then team will be 5, T. W B Q
X 2 only. So, R cannot go and W must go.
- ity AL 20 8. (a) STILL = 98E533
11 X 9 + WITHLtN 2b8UbBE
Ab AT e LIMITS 356584
11 5 -1 59. (c) Totsl number ot hang shakes will be 2%} = 132
Hence, | amd 1 are correct, 60. (d) Trom given informations, we get
4B. (d) Monc of the given answer is correct from the availahblc A=U=Rk~-5;
data sel. veliR=5+23
G=1+10 5 = Sequence from the lowest to the highest is,
2A uf Al 4 T AN) TUS /
_=_LB+_]=_[G+_ B*_]J TUSQREY
3 4 "B, A L2N 3 61. {a) IF x wicveles ate there, then there will be
Tof o B A ] {10 — &) bicyeles,
=L-'+g("*;LB+§” = 3x 4 A0 — x =24
24 3B A 4G B A = ¥ +20=24
= = * =" "k Bk = x=4
3 4 A 5 5 1b 62 I ) 2 T
e B A . [d) Let the speed of person and Lhat of wined be o und v kin/h
=L+ 4+ e ¥ tespactively
520 60
= A=180: B=100; G =110; L=80 Thern, — =4 and =0
o g : u—v u+ v
wlnch becoimes nconsisient .
2. = 4r—v) = 3w+ W
PR (o) Q E o u=v
d
S | Rank from data, top is bottom = , =3
“P | is given. T
7
Y 1§ Henes, R's rank is 5th in the class. g
B = 8uy 3
¢ l T
d 24
48, (d) If Bhalu alternated berween truth and lie, S0 will = T
’ : e ol u 7
Kachaalu, which will be & conrradiction, as onby onc 24
person atternated belween Lrutl: and lie. Hence, requited time = —h - 3 h 25 min 42 5
43. (d) 505xy will be divisible hy 80, if x =6 and y =0 4 . o
. 6. (d) Each 1 10 the given series has the digits on i's right
e 4 il excezding by the digits on the left by 1
BI. (b) v° and 3% will be factors of 1121121223
ta-11 5513 ifa=7-3=147 112122312232334
51 : . i i 11212431223 2334122323342
. (@) Odd-even =0dd, so0 (x — 2%y will be g, 1743445
Henca, (A) cannnt be trie. So, next three numbers is 4, 3, 4.
82, () Reguired dLstance 4 .
A 64. 4 A B ¢ D E
1 i 1 :
=16+2! 16><E——Tbx?+1t\x—£3+1bxé-_}+... Coast City
1 The person himsclf rcach the city E from cnast A by
16 x ravelling through .0 and O each wt 30 ke gach o 4
=14t gxn -—-—--—la =48 m days.
1- Then, when returning he will spend his rations an L,
2 where he will be joinaed by second person with ration of 2
B3. (a) Ifdis the distance covered, then if 't hour is the required days. At €, third persan will be there with ration of 3
rime 1o catch the teain in rimee, then persons for one duy. Agaun ol B founh person will be
da_ 1 ’ there, with ration of 4 persons lor one day. and bence
a - bt 10 finally all & will reach the coast A
S a 3 65. (d) If y was the total Tmmber of eggs and x 1 Lhe datly sale.
an 5 =t 10 Then.
d o i 1 [elt over egg on day 1 =y - x
= 4"5='IO+ID Left over ego on dav 2 = 2fv ~ x) - x = &y ~ 3x
d 1 20 Left over egg on day 3 =3y - 3x) ¥
= ?"]:" = d:—l_--=4km - o=fiy = 10x
s i1 o1
; ; Lslt over e ond 4d=4{Ey -Wx—x
54. (b} POSVW is not possible, as S and ¥ cannol be together. & o 24y {41)\
B5. (a) If Ris in new office, then as book keeper thers s anly one Left over egg or say total eqgs on day 5
option O =5@EAy -4l =x
Due o R and EJ in Ejrew office T and S5 cannot he = 120y - 205% = x
rl‘_nn.ﬂ.]]nf:.-mr.i... ‘En.ly and W _W.l]] b]}:—(: ‘:::&TI a4y new secrafares. = 120y = 206x
30, there 15 only ome option QREIVW = Ay = 100
56. (h) If R gaes, T wer't go aed i § went further U and Vo won”

ge, 50 we will nol gy Uwee secrelarics.

=y =103 and x = 60 as minimum values.
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66. () Sujit has told the truth and Lakers will be the winner, so
antamatically remaining two statements hecome wrang.

§7. (@ 0 9 cases for two digit numbers.
8

+ 8 =10 = 90 cases

For three digit numbers.

0 2
—a— B=10 =80 cases
T %

in 1000 thera = 3 0% 2

Total )% =9+90-80+ 3 =102

B3. (a) There ic continuation of sarias.
111 £11 211 111 le 31a29

._.
AE

—

B
It

™

89. (a) From the first information oldest,
vr old.
From the nex: information her age will be 9.
(AS 9 +4 =13)

. e_g_pesc:ssc;wcea_g;scesc

>

——*WSCSG—*CCG&S'SIE_}G

i CCCSGGS_E_Q-"*CCCSSGG_/_,S
—bCCCS“ﬁG---—PCCCSSSGGG

Séven moves arg shown nere out of whiclh one of thein s
trivial. e, six moves are required.

N, (&) 15t Game ~ Mr Birla deteated Mrs. Birla
end Game = Mr. Birla defeated BMrs Tata
3rd Game =+ Mrs. Birla defeated Mr. Tata

12, (c) Second nwmnber is the largest. Let it be x, then ficst
nuinber is x/2 and thud number 5 x/3
S0, their average is

x X
x+ _+
23 -g4
a
11z
bini } —_—
18
44 =18
= X = =
11

7 o .‘15 larga, 7 medium and 14 sinall ships
" ™y
(2 x .. 1 J

={0x=+Txn= i =~ + 14 zrnall ships.
ins 21 203 :

= —— + — + 14 = —= small ships.
4 2 4

Mow, 32 large, 14 medium angd 21 small ships

7
14[2>< +1
Ay

4

7
A + 21 small ships
4 3 :

=21+ 21+ 21 =63 smali ships
203
Number of trips hy —:l—_shlps i

203
) w3
So. number of trips by 63 ships = e = = 2% trips.
=X

M a3 QRTPS
According to the given buormation e arder of teading
newspaper, sa Q passed newspaper to [T

15. () It free luggage is v kg, then Huja has x kg, and Rahim Dy
2x kg extra luggane.
Thern, 2y + 3x = B0

76,

1.
78.
79,
80.
.

82

1.

B5.

86.

a2

{d

fd;

(C

[E]

—

NIMCET MCA Sclved Paper 2008

If 3x kg extra h.qqage cost T 3600, then T 5400 will be

cost of

bHaiu 4]
SX =N
3600 2
a aQ
= F+3x=—x
% 2
3 _ 3
y==x
T2
= x =10 kg
andg ] v=15kg

So. Habini's lugguage @5 v + 2x = 35 ko
Il » i3 the nember of rows, then if number of children in
iast row 15 37, then
AN+ +E+ + -3 -1 =630
Siw - 1 fx) :

= xpy TR it B30
X =d= 3y + U =630 (possible, v =207
=4 = 4v + 16 2 B30 (possible, v =153
X =5-35v+ 30 =630 {possible, v =120)
x=Fr =06y + 15 =630 {impossihle)

-miunnm Q). Kas. 77-80)

i o e T ]
S E C ; K ..1 D H
- X. | % 1 “S(. .‘/ =
K b ST 4 b4 b X
S X ¢ X v x ; X
FARR S 4 X X X
x 1= S
sV ey
A i e e e
» v b4
bt bt x
x X v
v * x
x X | s
Hyderabad.
Radrintan
R and Chenaal

MuwkSHelL

"= M is motnor of K, who is father of N, who iy sister of L.

Hence, N is daughter of K.

Uy R#ES#T= Rishrother of 5 wheo is brather of T.
Hanee, R is brother of T

K#EXgZHLEY

¥ is mnther af %, wno is nrother of father of Y

Heznce, ¥ is real grendmother ol Y.

KyleM#FN

= FE is mather of sister of brother of N

Hence, K s molher of K.

M#NSL#K L

=5 3 s brother of father of brother of K whio (s father of O,
Hence, K is nephew of M.

From: the given data foliowing 15 the pussibility.

Al Lal Babu Sharma Bhatia Gupta

= Babu has Lal and Sharma as the neighbours.

As the watch gains 10 s in S min 3o it gains 2 minin 1 h.
20 min past ¥ O'clock implies 10 1 20 min aftor 9 am, -so
acrual vme is 10 h ah=ad and 20 min is the gain,
Hence, actoal time is 7 pra.
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93.

96.

97
98.

m-.

[E}

,@3

()

(ch

{al

{b!
(b}

{c)

Y
0

J 4K w15 =7

As by reflesiton lelt hand becomes right hand and
vire-rarsa. an in original clock hour hand is between %
and Wand minuts Lhand i3 at 3, so time is actually 80 15
Lat the ratio ba a: ]

18 +9=15(1 + X

= . 4i=6= 7\.=§::>:\.:1::3:2

than,

Each guestion has 5 options, as it can be answered as A,
R, ¢, 13 ar lek siso.
Maw, all 120 questions will have 5 independent options,
Hence, total number of required ways’
-5x5x%5 . %5(120 times) =5'°°

R W1 pahy

110
+ 100
1010
1, o5 Lhers 15 an overflow
1,85 carry out i3 generoted by most swuilivant bits.
% =0, as the result is not zero
FHencs, 1, 1, O is the bits obramned.

1-
01
01
T2

o
o=

1
1
u

il I! lI

) A compiler converts a high level programn o law level

languege (M_acbine language) for execution.
1 Sign bit L Sign bit

[ Y I W W
] |

Mantissa Exponent
Mazimum munter o
=111111111 =g 2%

iR

= We should have 12 address lines and 16 data lines.
Tha nurmber of biocks required for the cache lnoreases
lingarly with the sizo of rthe main memory which is the
main  disadvantage of  direcr mapping ol cache
o1 gt zation,

Given, Al =7l where 1 <{i <10

= Al =2=x10=:z0

MHow, i AlAGl=ARZxH=A10 = =20

= Aljl= Al20

wiich iz nsl delined because A kes “he walues from 1 to
10, But nere, the condition ocours ub overflow.

BIOS = Basiv Jupul Culput System

Tt will ba simplified by Karnaugh map as follows.

Thare are three pairs.
g¢ B¢ BC B
A’ 1 1 I
A 1 | 1 I‘l
- - -
= Punction is AC'+ B'C = A'C’
B¢ BC BC BC
A ) I 1 1 |

or - SACHAER + ACT

LRI ([

1's complement of 1101 -0010

s complement of 110 1=0010+ 1=0011

and 1's complerrent of 0100=1011
2's complement of01020=1011+1=1100
Addition bath 4 bits : P01
- 1100
1111

100. )

102.

102.
104.

106,
10E.

101, @

(b

{c)

tay fixv.el=z(x "

(@)

It's one's complement =0 000
and 25 camplemart=0000-1.-0001
There is no overflow.

JE2a), =(13), 22 2+ 4 o r+3

< 2+ 2r+ b (r+ 3 =+ 6r+ 9
= ¥ o-d4r-b=n

= tr—9ir+ )=

= r=-15

Az g canndt be — %, 50 ¢ =5

2's complement of A ={0000110

2's vomplemment of B=11110110
11110140 - (248),,
*x0000011U
naoo0ono0c

111310110
11110110
10111000100 =(1176),
8, bit representation of, 10111000100 s

=By

11000100 =(196),
" THx+ryy
O — ﬁ).' Y)
=[x+ (x+ ¥
i . +{x+y vyl
v {x+yy}
Fl, =[x+ x v+ {xvy + v

(by e Margan’'s law)
b De Morgan's law)
{lyy Dt Morgan's law)
(b Le Morgan's law)
(by De Morgan's Taw)
(b Tre Morgan's law)

=[xy 4+ (0 y)eyl
=i+ v (XY
=t (x+ 9} iz + vy
=[x+ {4+ 1)1 [{x+ )+ vl
=lx+ x-p)-[x-y'+ ¥
={x+ X+ y- A W
{by Mistributive law)
by Comploment law)
(by ldentily luw]
(by Distributive law)

=1 f(x 1 vi(x'tyl-l

= (x4 P-(x' = V)

= x K+ xy+ ity

=0+ xy+ ¥ -0 “fhy Complement law)

= xy + x% {by ldentity and Commulative 1law)
which represent exclusive NOR.

4 BT R i P E D iven)
thy D Maorgan's law)
{by Distributive iaw)

= 2(x + vl + {£X ¥+ [xy)
=Xy tyZ+ EN+ XY

= vE 4+ ZX + (XY + ZX V)
=y + zx + (xy + 2 (xy + ®§)
=y 4 zx b [xy b ozl
—Ex+ X+ 2y + D

=+ xp+ 21 {by Absorptian law}
=xy+fx+ N=xy+z-1l=xv+ 2

> flx,v.A=xy+t 2

(by Distributive law}
(by Corplemont law}

Rx, y Z}=xy+7

1t requires two gdales,

(b} Reconcile to find way 1o make ideas, beliefs, needs etc.

Indivigible not able to be sepurated or broken into parts.
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107.

118,

11

() Acumen the ability to make good quick decisions and

- d)

{d)

{a)

{c}

Judgements.

Onus respensibilivy or duty.

inflammeble something thart is inflammable burns easily
Ignite to make <omething start to burn,

‘Thus, both these words show sunilar meaning, Herg,
sofnber and mourned are similar 1o eack other

Somber sad, unhappy, sorrowiol

Mourned to fecl extrernely sad because someane
diad.

Savant who has lot of knowledge

Obtuse who . does nol enderstand  explanstions or
situations guickly.

Thig, these words show almaost apposite relationship.
Athlete and stuggish show opposite relationship.
Athlate one who akes part in sports 3
Sluggish not moving as quickly as usual.

Upprobrium very strong criticismn of something that you
do noL approve of ar dishonour.

Its oppasite-Honour 1o respect.

lacessant continuing {for a long Lime withioul slopping in
a way that is annoving.

Its opposite.

Sporadic not reqular or frogquent.

113

114,

118,

118,
117,
118
119,

120.

(s

(a

{d}

(d)

ic)
iy}
{a)
)]

5]

NIMCET MCA Solved Paper 2008

Exasperate to make someone extremely annoyed and
impatient.

Its similar meaning Irritate

Inimical unfriendly, Lty sinilar meaning.

Antagenistic disliking someone or behaving in a very
unfriendly way.

According o author: afler the revelation, government
documents previgusly accopted ideas were proved to be
only partislly corsecl and some parrative arc proved to
he rompletely wrong.

Sratement | is wrong as afler 1evalation of government
documents the crizsis becomes clear it wus nwol sl a
mystely.

would be-hoping

To fish in troubled waiers means to take advailage of a
shaky or unsrable situation.

2.g., Arun is fishing in troubled waters oy buying more
shares of that campany.

Hera ‘leg’ will he used instead of 'legs’ as legs is plural
where "one’ should he followed by singular noun.
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